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Ans: f(11) = 0.1 x 0.9 = 0.0349
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Ans:f(1) + £(2) + £(3) = 0.1 x 0.9° + 0.1 x 0.9* + 0.1 x 0.9* = 0.271
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£(0) + f(1) = 0.8596491
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Rz — AL BEIRE X BER2H (FBrn/N = 0.03 < 0.1 aJBER"IESEEM)
N =100, R = 30,n = 3MBL&TNE - 57 - en=3p=%=03
P(X =1)=0.784 — 0.343 = 0.441 01 0 03 04 05
P(X <2)=F(2)=0.973 0 0.729 0.512 0.343 0.216 0.125
" 20 1 0.972 0.896 0.784 0.648 0.500
E(X) = ny =3 X 100 0.9 2 0.999 0.992 0.973 0.936 0.875
"R N—n 3 1.000 1.000 1.000 1.000 1.000
Var(X) = n%¥ %_1
30 100 — 30 100 — 3
Var(z) = 3 x — 3 x0.3x0.7x 97/99 = 0.6172727

100 100 100 -1
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NE#ABE (Poisson distribution)
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e AREANTIB—HEEM 1004 A2 1.7 1.8 1.9 2 2.1
E = E_ﬁg , ﬁﬁzga”ﬁit?ﬁm 0 0.1827 0.1653 0.1496 0.1353 0.1225
}% I:Iﬁl:l I:FI EEL 1 1/—1:1 ? AH H%_IEI%LE ° 1 0.3106 0.2975 0.2842 0.2707 0.2572

2 0.2640 0.2678 0.2700 0.2707 0.2700

iz oEmIAREE 0.02 - 55

3 0.1496 0.1607 0.1710 0.1804 0.1890
= ?
JJ:I: EH:I._;}_DD;&E E/] b& %17 4 0.0636 0.0723 0.0812 0.0902 0.0992
5 0.0216 0.0260 0.0309 0.0361 0.0417
A=nxp=100 x 0.02 = 2

e 1R =
P(X < 1) = £(0) + f(1) = 0.1353 + 0.2707 = 0.406
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